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Vypocet prutokl ve slozeném profilu
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0,00 (0,00 | 4,00 0,00 ###| ###| #i#| #iH| ### | ##H#| ###[0,000| 0,000
0,08 0,33 |4,00| 0,20 ###| ###| #H#| #HiH | #8# | ###| ###(1,262( 0,410
0,16 (0,66 | 4,00 0,41 | ###| #iH| #i# | #HiH| ##H# | #HHE| ###(1,962| 1,296
0,24 11,01 |4,00| O,C1 | ###| ###| HH| #H#| #HH | #H##| ###(2,521| 2,536
0,32 (1,36 | 4,00 0,82 ###| #iH#| #i#| #HiHt| #H# | #HHH#| ###(2,998| 4,082
0,40 1,73 |4,00| 1,02|###| ###| #iH| #H#| #HH | ###| ###(3,418| 5,906
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1,50 (9,31 | 4,00 3,05 ##H| ##| #H| HH#| £ | ###| ###(8,395| 78,175 6,48 8,00 | ##H#| HH#
1,60 |### | 4,00 3,25 | ###| #HE| #H | B #1 | #HE| ###)8,706) 88,038 7,55|8,00 | #it#| #i#
1,70 |### | 4,00 3,45 ##| #HE| #HH | B #H1 | #HE| ###) 8,996 98,162 8,668,000 | #it#| #i#
1,80 |### | 4,00 3,65 ###| #HH |t | #HHE| HHH | #HH| ###] 9,266 Ht 9,80(8,00 | #i#| #i#
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